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1. rurilh lphq ruL{rubntrlp' ntrtttlFtl \ftfott.ful*tt, .I2*llt

. 35/4, q. gnqF 4110, Su{nt2h drufrq, Z

2. Zlnltnu4prrr{fr qnpbrurl[rp ilruprltr[r th\ru{rupp'
Uuunrtr Untpur4luh, tu2]urutnur{urp& L,2I5,9L0 ZZ rlprutl
Uurnqh\ Urupmplurh, ru2]uururu{urp& 374,570 ZZ 4purtf

3. Zfnltnu41ruilb hnqruprupAnr.trhp[r lo"ftltp+]t ruL4rurlhhpp'
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gpprurl2rullntpru3rufrh bpurqfrp 1.
Vppruil2ur\nr-puryulrh bpruqfrp 2.

165,55012 4putt
277 3OA ZZ rlprurl
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7. $frlluhuru\ruh urupnr-rl oqrnruqnpb{rub rffr2nghhpb ptu$rutrnrp Ir+E 3,558,051 22 rlprutl

7.1. gruhnllu4pru\rutr bqurnru\trhpt, ]rpru\rutnugrftutrtr nqrflrub bruluuhpp !ufp' 922,85012 {prurl

g. $|rlrurtruu\rutr hu2r[hrn{nrp;nr-trhhp}r r[hpruphplulrum4fnnh [rpru\rutnugtffI rutr&]r rubnrh ruqqruhnttrg

(urtrrlruhnr-ilp)'

Unqlnn fh ltp*\*tlu gtlhl

Zfnitmr4prutf [r utrophh

afuur{np hru2{urqruh

Uurnqfr\ Uurpurpluh

Ulohfo*n rrmnrutrn{


